
warteschlange
kenntListenende = 
kenntListenkopf = 
- - - - - - - - - - - - -

patient01
kenntNachfolger = 
- - - - - - - - - - - - - - - - - -
name = ”Mueller”
vorname = ”Erika”
krankenkasse = ”DAK”
?gibName()
!setzeName(pName)
...

patient02
kenntNachfolger = 
- - - - - - - - - - - - - - - -
name = ”Lorenz”
vorname = ”Susanne”
krankenkasse = ”BKK”
?gibName()
!setzeName(pName)
...

patient03
kenntNachfolger = 
- - - - - - - - - - - - - - - -
name = ”Peters”
vorname = ”Felix”
krankenkasse = ”TK”
?gibName()
!setzeName(pName)
...


